Wandle um: 
1.) Wie viel g sind 13 kg?          13 kg = ______________________
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	
	
	
	
	
	
	



2.) Wie viel kg sind 45 g?          45 g = ______________________
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	
	
	
	
	
	
	



3.) Wie viel g sind 9,5 kg?          9,5 kg = ______________________
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	
	
	
	
	
	
	



4.) Wie viel kg sind 1.234 g?          1,234 g = ______________________
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	
	
	
	
	
	
	



5.) Wie viel mg sind 3 kg?          3 kg = ______________________
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	
	
	
	
	
	
	



6.) Wie viel t sind 2.555 g?          2.555 g = ______________________
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	
	
	
	
	
	
	



Ergebnisse
1.) Wie viel g sind 13 kg?          13 kg = 13.000 g
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	1
	3
	0
	0
	0
	
	
	



2.) Wie viel kg sind 45 g?          45 g = 0,045 kg
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	0,
	0
	4
	5
	
	
	



3.) Wie viel g sind 9,5 kg?          9,5 kg = 9.500 g
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	9
	5
	0
	0
	
	
	



4.) Wie viel kg sind 1.234 g?          1.234 g = 1,234 kg
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	1
	2
	3
	4
	
	
	



5.) Wie viel mg sind 3 kg?          3 kg = 3.000.000 mg
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	
	
	
	3
	0
	0
	0
	0
	0
	0



6.) Wie viel t sind 2.555 g?          2.555 g = 0,002555 t
	t
	kg
	g
	mg

	H
	Z
	E
	H
	Z
	E
	H
	Z
	E
	H
	Z
	E

	
	
	0,
	0
	0
	2
	5
	5
	5
	
	
	



2

